c{};l_j AccoluraTuBHAS [IEHHOCTH (ITPOMYIIEHHOE YHCJIIO) Nwmsi:

Haiigute 3Ha4eHue n. OTBeTHI
1) nx(10x2)=(0x10)x2 2) (2x6)x10=2x(nx10)

1.

2.
3) nx(2x5)=(6%x2)x5 4) 9x(nx3)=(9x1)x3

3.

4.
5) 7x(5%6)=(7xn)x6 6) 9x(1x4)=(nx1)x4

5.

6.
7T (nx9)x6=1x(9%6) 8 (nx3)x6=5x%x(3x6)

7.

8.
9 8x(3xn)=(8x3)x0 10) 5x(9xn)=(5x9)x8

9.

10.
11) nx(3x0)=(8%x3)x0 12) (nx10)x2=8x(10x2)

11.

12.
13) 1x(7x4)=(nx7)x4 14) 7x(1x10)=(7%x1)xn

13.

14.
15) 6x(8x7)=(6x8)xn 16) nx(9x10)=(2x9)x10

15.

16.
17) 2x(6x3)=(2xn)x3 18) (3x2)x5=3x(nx5)

17.

18.
19) nx(4x7)=(2x4)x7 20) (7x4)x9=7x(nx9)

19.

20.
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AccoluraTuBHAS [IEHHOCTH (ITPOMYIIEHHOE YHCJIIO)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Haiinure 3Hauenue n.

1) nx(10x2)=(0x10)x2

3)

)

7)

9

11)

13)

15)

17)

19)

nx(2x5)=(6x2)x5

Tx(5%x6)=(7xn)x6

(nx9)x6=1x(9%6)

8x(3xn)=(8x3)x0

nx(3x0)=(8%x3)x0

X (7x4)=(nx7)x4

6x(8x7)=(6x8)xn

2x(6%x3)=(2xn)x3

nx(4x7)=(2x4)x7

2) (2x6)x10=2x(nx10)

4)

6)

8)

10)

12)

14)

16)

18)

20)

9x(nx3)=(9x1)x3

9x(1x4)=(nx1)x4

(nx3)x6=5%x(3%6)

5x(9xn)=(5x9)x8

(nx10)x2=8x(10x2)

7x(1x10)=(7x1)xn

nx(9x10)=(2x9)x 10

(3x2)x5=3x(nx35)

(7x4)x9=7x(nx9)

OTBeTHL
1. 0
2 6
3 6
4 1
5 5
6 9
7 1
g 5
9 0
10. 8
11. 8
12. 8
13. 1
14, 10
15. 7
16. 2
17. 6
18. 2
19 2
20. 4
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